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o Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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AT 4597 :

() 1 37% I F991 & I U Jeq & Uk AT T &l |
(i) 8 3 I Jo] & IR 50 - 75 5] & &1 |

(i) 4-5 37H I JH F IT FIHT 150 751 & &7 |
(iv) 6 37l qIct Jo] & IT TTHT 200 7151 3 & /

(v)  TH T F G YT Gre-are g 5T BT |

General Instructions :

(V)

(i1)
(i11)
(iv)
(v)

66/2/1

Answers to questions carrying 1 mark may be from one word to one
sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

‘TS’ 9 o I 3§ 2 1

What is meant by ‘Privatisation’ ?

IE F1 gl AT 7 Toh Ja-g < g Yhld & J&ud: Fagiieh 8id & ? 1

Why is it said that principles of management are mainly behavioural in
nature ?

2
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

3. TR & TR & w9 # Tafer’ st gitenfyg i | 1
Define ‘Method’ as a type of plan.

4,  ‘Sran GEfeem’ @ (W) W aTell \@TEfhel SHH T 3T R W 7 3
ISR H I8 THIUHR g | FIEH 95d 3101 9d @ 7, I HrE] gL an
fashar o 10% 1 gfg & 794 I 1 e ITed = @ 7 | o1 e o
fepid & Icarfea greRt ot & Jarg-feeres 4 ormel oY fasea § 15% afg @
ITeRIEt A& TET | 36t 9N SR § § Sfeenfrn 9 oft yew fehen ek
T 37T A& DI I KA T A EY |

Y=g o ST H T Teh b ohl 3T HHT ol gAY THeh 0T Hrg1 3794
AL Bl UTed A | A &Y | 1

‘Bawa Cycles’ was in the business of manufacturing racing-cycles and
had a monopoly in the market. The business was doing very well and the
company was consistently meeting its objective of 10% increase in sales
every year. Encouraged by the good track record, the Managing Director
of the company kept an ambitious target of 15% increase in sales for the
next year. The same year two competitors also entered the market and

because of this the company was not able to meet its target.

Identify the limitation of one of the functions of management

because of which the company was not able to achieve its target.

5. ‘Yo ATTd fRE YR Weh ShFAH! sl YSit TTEAT o F9H ohl UWIAd Rl § ?
3@ HIfT | 1

How do ‘Floatation costs’ affect the choice of capital structure of a

company ? State.

66/2/1 3 P.T.O.
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6. ‘Toee g widgw fafies’ 3 afesi @ weli o uftgs o fafsmar grea

& 2 | Uk INR B IS G @ ik Ig Id gHY 9 3 TOH W HdAl
Td "iowdl sl fadid et 3 |

39 I o THT H HRUI ¢d Y 3g@ hHINC foh NAwse graare |fdes i
IR YSft 1 HATRIHATE A B AT A | 1

‘Reliable Transport Services Ltd.” specialises in transporting fruits and
vegetables. It has a good reputation in the market as it delivers the fruits

and vegetables at the right time and at the right place.

State with reason whether the working capital requirements of ‘Reliable

Transport Services’ will be high or low.

7. o we e fofiee’ uw uitg dived weEned wve @ W geni we e % fog
Sifeeh dieed JETEHT Sl U HICAT 8 | AT 31U IcUTGH o folw e W smenia
Tl ST ITNT HIA B R W H A, 1 Gied YHIEA VS § | Tg 7 had AU
IUHIRIS ! HJY HA & UG 39 U7 ! g0Ed gian § ot fovams w@dt 7 |

‘ot e e fafiee g e 9 9l a9 weew staumum Rl
gAY | 1

‘Glow and Shine Ltd.” is a famous beauty brand offering organic beauty
products for men and women. The company uses plant-based materials
for its products and is the No. 1 beauty brand in the country. It not only

satisfies its customers but also believes in overall protection of the planet.

Identify the marketing management philosophy being followed by
‘Glow and Shine Ltd.’

66/2/1 4
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8. Uk A ‘AN HICH © T 50 ARG hl Th N @Gl | HFHT 4 Tohl hl agd
T TN IUER TEqA fohu ﬁ'@ — JU9 § 99l o ¢ gEI M, 20,000
forctier dh TwTE-gatts (TffE) 6t god Jard 3K 39 it R &I W T
aﬁam@ﬁwﬁm,aﬁiléﬁwﬁqmwwww%
HR TR clcrd\l:lﬁqcbsd“laﬁtsach S H $® QU 8 | A A o @
% I hl THE-YATS (HfEm) i wAfer {6 off vehsr seeh froure @ gqe T
o7 | ‘IfNek Hied’ I8 TE Afdfshan T8 ¢ W AT | 3 IFH TSI HHRE H
Rreprrd &5t <, Aferd 98 38k fofa @ |qe 78 g7 | 98 wgd i Qe
of 3R g TEH & g 35 g Fvia o fop a8 soeh foeg srdfier s |

FT Gohal =T HHITE o 0l & fovg Tfid o= Tenal 8 2 3799 I & g9eiq
T SR T | 1

Pankaj purchased a car from ‘Abhishek Motors’ for ¥ 50 lakhs. The

company offered many attractive gifts to Pankaj like — free insurance for

first two years, free pick-up and drop facilities for free servicing upto
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of
the car was not good and there was some problems in the engine. The
company serviced the car free of cost but even then Pankaj was not
satisfied with its performance. ‘Abhishek Motors’ is not giving him the
due response. So he filed a complaint in the State Commission but was
not satisfied with its decision also. He was very much disturbed and after

two months decided to appeal against it.

Can Pankaj appeal against the decision of the State Commission ? Give

reason in support of your answer.

9. U GG o YT @Te o1 41 37 B 2 8 feheal a1 iUl ol 3@ HIT | 3

What is meant by divisional structure of an organisation ? State its any
two disadvantages.

10. foawr mrsq & SR Rl 9IR OraElt R foRd YRR UHIfed Rd @ ?
HHATST | 3

How do the ‘market related factors’ affect the choice of channels of
distribution ? Explain.

66/2/1 5 P.T.O.
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11. E TR iwmR e’ & 919 T e & ®9 § SR H @ o1, |
ST fGHWT T BN I B W oft | HOH BT g IfdfeT 200 A
G FAT T ICATEA BT AT | IGH1 SR Ig AT AT o1 foh Iedted
w1 TAfder 9 9 Iaar ® 3 390 fordt Tehr <Al ShIg o919 9 37U | 39 UTd
w0 & fou g7 AT o1ey ear of 3R 3§ 919 W S <1 o foh 3T e
foran Q. | 9% 3 fovam @t ot fop fsa1ed 1 q@d gU R W@ &8 qH
fu < @ehd % |
3TRE GRI YIS TS Acd il hl T8 HIRT TAT FEHT JUM HIT | 3

Aarav was working as a supervisor with ‘Neer Purifier Ltd.” which was
producing water purifiers. The target of the company was to produce 200
water purifiers every day. His job was to make sure that work goes on
smoothly and there was no interruption in production. To achieve this, he
always gives orders and insists that they are obeyed. He believes that
reward or punishment both can be given depending upon the
performance.

Identify and describe the leadership style being adopted by Aarav.

12. St 99R UE gg1 9 o 9 Efafed s w st Hifw 3
(31)  wfqurft
(@)

Distinguish between Capital Market and Money Market on the basis of
the following :

(a)  Participants

(b) Instruments

13. ‘Sdlum. fafee’ 9gd ¥l 9 S @ ope s W 7 | 3
150 FHa & H @ SIferepay wrisr-wafewor o o T8 2 |
W-maa@ﬁﬁélm‘wﬁﬁﬁaﬁwﬁﬁwﬁ%
HH-HETEH-Ja4%, qsﬂ‘—rﬁﬁg?ﬁ%mmsﬁ:raﬁwaw%wﬁﬁ
aﬂm?ﬁlﬁﬁ% 3R HH=iEt & Gerral =1 frehrrdt s s g
a8 FIE gHE U T R | FEE §gd HH @I A
AT Ll B, FHHAR hadd TEAT | Td 8, AT & FATT Hd 8 3 I
ik
(1) I9IYH UG FEIEU 1T Sl TFATHT |
(|) 3T TN Srar Hi TR St H affehd foRam ST WAl B ? 3ooi@

HIT |

(@) 39 oft 1 Tk T TEINOT 1T I THLATST | 3
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‘KPM Ltd.” is manufacturing breads and biscuits for many years. It has
approximately 150 employees and most of them are not happy with the
working environment. Because of this the labour turnover rate is very
high. Therefore the company appoints a new Human Resource Manager,
Naveen, to analyse the situation. Naveen finds that there is no free flow
of communication, and there is no suggestion box for the employees to
voice their suggestions or grievances. The company rarely organises a
social or cultural gathering, the employees just come, finish their work

and leave the organisation.
(a)  Identify the communication barrier discussed above.
(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

14. ¥4 % THgl % A W THR SO a1 foheal aR fogatl 1 oo
HITT | 4

State any four points that highlight the significance of principles of
management.

15.  SUMIRRT TT&IUT ATUM=H, 1986 & 3T=iid U U IUHRAT o 1 3Tfeshrl bl
HHART 4
(31) T w1 Al
(F)  IuvrET e w1 SAfYwR

Explain the following rights of a consumer as provided under Consumer
Protection Act, 1986 :

(a)  Right to Safety

(b)  Right to Consumer Education

66/2/1 7 P.T.O.
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16. B 9 20 HHAATE! o A WA TTHIOT SIHR 6 foT¢ ‘Trfie@ fafes’ am 9
& Raee o9 1 TH IO RY FI | I TR 9w § e 3 S5
sreet &R foRm | feh 3cug s o SR 3TeR! faque ot S TR | | @
T, AU 3Heh 3cUIal <hl! T &g TS | 39T il &M o [T HEH! ohl
nfafcn sl Y ol et 7€t | g, S vgel O fvl o o @ o, 6 35S
el SR 1 T HET TS | 30 AR favarm on foh oma faofi =
JHEYU @ § AN A o 07T 31efiaey qul &9 & &M, 90 U9 919--979d 8
3R 319 ol 1 wwTeaqul @1 § AR i 1 I 31 Hehd & | ek
3re® i fiel ofR Srot 9 had 19T ST SgH H A W@ Afug
fafir foemarstigsh amer 369 7ot Icurg e | foear o s form |

(F) 3T STAYURN I YgATHT, et T ik 89 A0 Srl sl Aferes
FaTgdl ek o W § HeW B T |

(9) 39 STAYRUN % HEd o (oheal dIF [6=g3 i Hf THLATIY | 4

Harsh started a company ‘Tiny-Toys Ltd.” to manufacture economical toys
for the Indian rural market, with 20 employees. The company did very
well in its initial years. As the products were good and marketed well, the
demand of its products went up. To increase the production the company
decided to recruit additional employees. Harsh who was earlier taking all
decisions for the company had to selectively disperse the authority. He
believed that subordinates are competent, capable and resourceful and
can assume responsibility for effective implementation of their decisions.
This paid off and the company was not only able to increase its

production but also expanded its product range with different features.

(a)  Identify the concept used by Harsh through which he was able to
steer his company to greater heights.

(b)  Also explain any three points of the importance of this concept.

66/2/1 8
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17. ‘wfeqe fodfiee’ & HHaRl 9E1 g8 7T I T HH 5 ¢ FFol grr Amfad
T8 LR W W HH H b AW T8 ¢ | AT HHARI 0
fafieh TTigeH Sl HIT AL @ 8 | HHATT o TR-SR AT oh HROT Tdefh T
g 3AH TR R |

gama 4w ff wiases frm TR wU=TEl & SN 9 qH Sl TR 36
WA Y ¥ R G & A 1 TohaT 8 |

31 o9 ol 1 off 3g@ hIfSTT Sl HHETNE] il UdeTes o MUl grRi ™ B | 4

The workers of ‘Swastik Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.
Therefore the workers are seeking extra guidance from the supervisor
and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of
workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision
of the supervisor.

18.  ‘SMuRRIen fomner™’ dIeTshy, UISTsHH-GEHl 9 shigl-arardt fshamedi & fhsr
e foenfer & gatgior fawma d favere T@ar & o 9 9a-1 i g <
7 | T T feam W e S U WS A Ted T o7 | HRihH
graeefi fafie wett it a9 S99 & fe 38 2@ gum s=I i T wEd
TE | 3|H ug fol forn f6 Osee % fw 9 qAafee @ w1 v
Ul | ITH ThAT Td GO 1 9o off 3R 9t HGW Th-gal 1 HgalT
R d | YRieh fI9am@ ua 3199 hl 9IaAT o SRRVl hRIshH SIafedd &9 §
fefa e srifea 8 T | oRfamg 3, S ygH S=I § ¥ T o, A5 9T
foren fop oo & 1 & TS T9 SEaET § 396 od |4 Yy & fofi
fagral o @t &1 T A1 B | 98 A S Tt A a1 At Ifd
g7 foh 3o o foasht i &t fagra o 310 =¥aw™ § 31 & foe et |
3Tk fuarsit 3 oqmn o6 9% 98l § 8 36 fUga SIS R R© B |

() A 6 T & T T fhu MU ey & fagea =1 gg=nu |
(§) ey I 37 g foivaren w1 3g@ HIfe 9 W I9gE 31w § Y

A T R |
(@) C‘omumrfren foura® g SIS @ GRifva fhu U TRl @ wedr i
TEIH <hIY | 4
66/2/1 9 P.T.O.
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‘Adharshila Vidyalaya’ believes in holistic development of students and
encourages team building through a mix of curricular, co-curricular and
sports activities. On its Founders’ Day a stage performance had to be put
up. A committee of ten prefects was constituted to plan different aspects
of the function. They all decided to use recycled paper for decoration. As
there was a spirit of unity and harmony and all members supported each
other with mutual trust and belongingness, the programme was
systematically planned and executed. Arvind, one of the prefects, realised
that unknowingly the group had applied one of the principles of
management while planning and executing the programme. He was so
inspired by the success of the function, that he asked his father to apply
the same principle in his business. His father replied that he was already
using this principle.

(a)  Identify the principle of management applied for the success of the
programme.

(b)  State any two features of management highlighted in the above
paragraph.

(c) Identify any two values which ‘Adharshila Vidyalaya’
communicated to the society.

19. Sy fafiee’ e fosnel ta SURUTEdT drell T 8 S YRA 919IR o fou
FIAIHRAT THI T IcqET H @ 8 | T8 IS 3 q=l I gE oxi ol R
T TTEdl & N T8 I=F deheieh areil A1 H Fosr o o1 foem o= @ 2 |
Fraw it arferes 7T B9 % HROT SEihiieies fo i 3TavEeRar 8 | T |
frofa fomn for g gan =791t 1 9 e Tt whlEa Uft | Tmar e = S
F T 9ga 1fues frfea @ (veiesm wiwe) fifga 2 | frfma g (weresm
HIEZ) T B T A T FFH T g1 IR F TGl b ST H AW
o1 ol foqam |

(31) 3uYh I F A FHF g1 IR 5 o Tor@ w1 T R ad B,
3G A1 Sd1d g 30 HEATST |

(F) 39 YOG o A1 W T fepadt srafy & o fom ume ot wendt 2 2
() 39 Jorg i R foh 3e9T o foTu 3Um o A 1 Fehar 8 2 4

66/2/1 10
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“Zaira Ltd.” is a large and creditworthy company manufacturing
air-conditioned buses for the Indian market. It now wants to export these
buses to other countries and decides to invest in new hi-tech machines.
Since the investment is large, it requires long-term finance. It decides to
raise funds by issuing equity shares. The issue of equity shares involves
huge floatation cost. To meet the expenses of floatation cost, the company
decides to tap the money market.
(a) Name and explain the money market instrument the company can
use for the above purpose.

(b)  What is the duration for which the company can get funds through
this instrument ?

(c) State any other purpose for which this instrument can be used.

20. ‘INU=ieh ST &1 31 IA1EY | 39 fhral AR AT T 3ZE@ HifT | 5
Give the meaning of ‘Formal Organisation’. State its any four
advantages.

21. fiod <@ aul & s fouaa s’ § & = @ 8 | 98 6 & Ifd 3T
T o U TG 8 | 9 3HY It YeRU® HaTHgd gl dl 3Heh |t
TIfeRn 4 918 |ren fob e it 319 ygrEfd g Swh | 9 39 @il ug 6l Th
IE Afw FER T g W T T @t 't H oTved g | 36 HR
HISAT 1 IcAT® T & T AR IFh Fsared e 3 & oo sEd
Y3719 1 TFER AT HEAT & L AT 3 39 AL Bt 9T T8 hL
a1 @ off |
FUR TRET T Tt AT oft S v iRt W1 T ket ey <t oft, sifug
I8 ATIeRid Ua JIURE ot it off | 3T e & a8 I IR e fe
3R 39 Hegw fohan fob 3o fisute # gur fohan S wehar B | 364 e I
e o o greret faw=ii § smfier shen ey o oo oiR 38 T 3= -+l
T Te-Y FrHfd T TGET ST QAT | 376 1T e H 90T T 3T off 3R
35k sare § off gur g1 ey & e |
(27) i g fasarfed yaeg o ® 6 ugEE HIT |
(¥) Y9 % I9YH B b I awd Bl AW FarsC SEh TEgEEar o i

TSN o SIGER § FER HL Thl |
(@) 39 () U UgaH T awa < ol i fasmansti &1 Seoi@ Hifer | 5

66/2/1 11 P.T.O.
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Kavya had been working with ‘Reliable Ltd.” for the last ten years. She
was famous for her dedication towards the work. When the manager
senior to her retired, all her colleagues thought that now Kavya would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Garima’. Because of this, Kavya felt demoralised and her
performance started declining. She would absent herself often and could
not meet her targets.
Miss Garima was a good leader who would not only instruct her
subordinates but also guide and inspire them. She noticed Kavya’s
behaviour and felt that her performance could be improved. She started
involving Kavya in decision-making issues related to the organisation
and made her a member of a high-level joint management committee.
Kavya was now punctual to office and her performance started
improving.
(a)  Identify the function of management being performed by Garima.
(b) Name the element of the above function of management which
helped Garima to improve Kavya’s behaviour.

(c) State any three features of the element identified in (b) above.

22. TH HIOH! HEEA BF AN L % AT AR I &1 A0 X @ o, S 95
s A A 4 | ¥ R T R U fed § 500 Hier ¥ a9W 1 A
HEA ITed TE H A @ A | v W Fg udr =en 6 wien Terd woaE
¥ | el AT chl STTASHAT oh HRUT qAT HHATIT hl HHT o HROT HEGHT 379
Fuffa @eat &1 ged 78 W T @ 9 99T Sehfcush aaeensti i SAevaehal
off | St 83 AT I QU HH o [T FFHT 3 TAH MR o6 T 66 AdNTh
HETEl I AeEeRar off, am @ 6 fafte faumm & srewet & w9 ° S
HUT qAT 10 TcIh 98] o efi S1efieel & ®9 H S HUl | AETD
ATt T SR fafmedret i W gEiag o= m | 97 off ol fomn mn
5 Tred & et a1 9gi W wigensti, fUse qon unfior &= & & qen
ToRIY A aTel AT T IcATRd B o fIC e & AW | TIeT <l Frrarai
I ITeh! R I Fepid o A1 oA e o foe @t sama foeg o | 5
(31) 3Iwh afvia Yewe o T Sl TEATHT |
(F) YEIH U YAS HE hI AGRAT & 37§ =N HI Iect@ hifo et

UM IWYh ITToq H foRAT T § |
(@) F fordl < oAl <l g SIST S R AT i TR hTAT @TEd
g |

66/2/1 12
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A company was manufacturing solar panels for charging of mobiles which
were in great demand. It was found that the target of producing 500 solar
panels a day was not being met by the employees. On analysis it was
found that the workers were not at fault. Due to non-availability of raw
materials and shortage of workers, the company was not able to achieve
the set targets and alternative arrangements were needed. To meet the
increased demand the company assessed that approximately 66
additional workers were required out of which 6 would work as heads of
different departments and 10 would work as subordinates under each
head. The required qualifications and job specifications were also
enlisted. It was also decided that necessary relaxation should be given to
encourage women, persons from backward and rural areas and persons
with special abilities to assume responsible positions in the organisation.
All efforts were made to match the ability of the applicants with the
nature of work.

(a)  Identify the functions of management discussed above.

(b)  State the two steps in the process of each function dicussed in the

above para.
(c) List any two values which the company wants to communicate to

the society.

o o

23. Y=Y & HIRGd gl sl HST : 6

(1) wgm, | foh TohtE

(&) srgamad

Explain the following principles of management :
(a) Harmony, not discord

(b)  Discipline

66/2/1 13 P.T.O.
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24, ‘fuferan fafiee’ w oot 2 S fioss & Ul 1 Icqed = @ 2 | fisd
HIh TN T Tg AMAR TS o Afid B @ 7 | W 9y off a8 wiw v
I & H a%d W g | HEE % g g Ushs IR wfasy # faskw &+
3T AT ITAY B | Ig Th Wll-HiTd JaT-4d T4 & a1 urad, USR
TN e qAT =] AT dghdi H fava™ TW@dl @ | 39k Wgd §
VYR g A1 A9 fawr W Ffia s yrea s vt wefiehar <d & |
HIOH! | TH. AR, I ¥ T 60 ARG I K0T f7A1 7 IR F0T U o ITTHAR
AT o M o oI $ fqarei o 72T 7 |
Hro o TR T ITYE avia 39 fafim wrehl 61 IR Heha Har 7, W1 Ig vl
d &, T wrt grn Y 1 feham s gfgenfa fpam S et fomaen wm
forafea feram SITQ |
IR AU @ Ul 3gd i gC W@ fREl WR wRel @1 deeite w
HHARY | 6

‘Silkiya Ltd.” is a company manufacturing silk cloth. It has been
consistently earning good profits for many years. This year too, it has
been able to generate enough profits. There is availability of enough
cash in the company and good prospects for growth in future. It is a
well-managed organisation and believes in quality, equal employment
opportunities and good remuneration practices. It has many shareholders
who prefer to receive a regular income from their investments.

It has taken a loan of ¥ 60 lakhs from SBI Bank and is bound by certain
restrictions on the payment of dividend according to the terms of the loan
agreement.

The above discussion about the company leads to various factors which
decide how much profit should be retained and how much has to be
distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.

66/2/1 14
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25. ITEEl e XII H a1orsd i T fomneff off | 35es fUamsht weh fopem o S 8
1 fofi foped Id & @en 78 Ieaed < farfvm el o qof w9 @ Fgw 9 1 @
TEEHR G 15 1 Wl T Teh AREHH Tl o fae off 99 T | wsh afdiem
% T H 36 I UE AT 115 ohl 3 Jedi T v S hl EEHTeId W
AT H T U T | 3geh Tuamsit 4 39 germa fean T wmgent o fo=mi @
Al 1 91 AT % T 98 $ee 1 30A R | I8 qr fop Aforh-Ueh g hH
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Vasvi was a student of Commerce in class XII. Her father was a farmer,

who grew different varieties of wheat and was well versed about various
aspects of wheat cultivation. He was also selected by the government for
a pilot-project on wheat cultivation. As a project she decided to study the
feasibility of marketing good quality wheat at reasonable price. Her
father suggested to her to use internet to gather customers’ views and
opinions. She found that there was a huge demand for organic-packed
wheat. She knew that there were no pre-determined specifications in case
of wheat, because of which it would be difficult to achieve uniformity in
the output. To differentiate the product from its competitors, she gave it
the name of ‘Mahan-organic-wheat’ and classified it into three different
varieties namely — Popular, Classic and Supreme, based on the quality.

She felt that these names would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.
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